ECE 342: Electronic Circuits Summer 2024
Problem Set #7 Professor Schutt-Aine
Due Date: Spm, Fri, Jul 12, 2024

1. Consider the NPN ftransistor circuit shown below. Given Vggon) = 0.7V, Veg(sar) =

0.2V, B = 100.

a) Find IB, Ic, IE, VC and VE
b) What is the region of operation? Why?

¢) Find the maximum value of R, so that it is the forward active region.

2. Consider the PNP transistor circuit below. Given Vggony = 0.7V, Vgc(sar) = 0.2V, =
50 and R, = 2.5k().




a) Find IB' Ic, IE, Vc, and VE'
b) What is the region of operation? Why?
c) What are the maximum and minimum values of R; so that the transistor remains in the

forward active region.

Vout

3. Given Vgg(on) = 0.7V, = 100,71y — oo, determine the voltage gain A, = . Assume V =

mn

25mV.




